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$10,275 X 10% = $1,027.50

$31,500 X 12% = $3,780

$47,300 X 22% = $10,406

$80,975 X 24% = $19,434

$45,900 X 32% = $14,688

$124,150 X 35% = $43,452.50

$49,335.50

A Deeper Dive Into How the Tax Bracket Calculations Work
Unmarried TP - § 1(j)(2)(C) – 2022 inflation-adjusted brackets in casebook
Assume Taxable Income = $340,100

$92,788

Beginning point of 35% 
bracket tax calculation –
i.e., amount of tax on 
taxable income below 
35% marginal bracket

Tax on amount of taxable 
income within 35% bracket

Total tax liability
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